

EX: Solve $y'' + 4y = 5e^{-x}$ y(o) = Z, y'(o) = 3 Using the Laplace transform Apply of to the equation $\mathcal{X}[y''+4y] = \mathcal{X}[5e^{x}]$ So, Then, $(t^{2}\chi[y]-t_{y}(o)-y'(o))+4\chi[y]=5\chi[e^{x}]$ L(y"]

Since
$$y[0] = 2$$
 and $y'(0] = 3$ we get
 $t^{2} \mathcal{X}[y] - 2t - 3 + 4 \mathcal{X}[y] = 5\mathcal{X}[e^{\frac{x}{2}}]$
Since $\mathcal{X}[e^{nx}] = \frac{1}{t-n}$ we have
 $(t^{2}+4)\mathcal{X}[y] - 2t - 3 = \frac{5}{t+1}$
Thus,
 $\mathcal{X}[y] = \frac{5}{(t+1)(t^{2}+4)} + \frac{2t}{t^{2}+4} + \frac{3}{t^{2}+4}$
Need to do partial fractions on
first term.
 $\frac{5}{(t+1)(t^{2}+4)} = \frac{At+B}{t^{2}+4} + \frac{C}{t+1}$
so,
 $(5 = (At+B)(t+1) + C(t^{2}+4))$

Plug different t's in. $t = -1: 5 = 0 + c(5) \neq -[c = 1]$ $t=0; 5=(0+B)(0+1)+(1)(0^{2}+4)$ 5 = B + 43=1 $t = 1; \quad 5 = (A + 1)(1 + 1) + (1)(1^{2} + 4)$ 5 = 2A + 2 + 5A = ~11 Sal $\frac{5}{(t+1)(t^2+4)} = \frac{-t+1}{t^2+4} + \frac{1}{t+1}$

So,

$$\mathcal{L}[y] = \frac{5}{(t+1)(t^{2}+4)} + \frac{2t}{t^{2}+4} + \frac{3}{t^{2}+4}$$

be comes
$$\mathcal{L}[y] = \left(\frac{-t+1}{t^{2}+4} + \frac{1}{t+1}\right) + \frac{2t}{t^{2}+4} + \frac{3}{t^{2}+4}$$



So, $\begin{aligned}
y'(y) &= \frac{t}{t^2 + y} + 2\left(\frac{2}{t^2 + y}\right) + \frac{1}{t^2 + y} \\
\text{What y satisfies the above?} \\
y' &= \cos(2x) + 2\sin(2x) + e^{-x}
\end{aligned}$

 $\mathscr{C}[\cos(kx)] = \frac{t}{t^2 + k^2} / \mathscr{C}[\sin(kx)] = \frac{k}{t^2 + k^2}$

$$\mathscr{X}[e^{\alpha \times}] = \frac{1}{t-\alpha}$$

So,

$$y = \cos(2x) + 2\sin(2x) + e^{-x}$$

$$y_h \text{ term}$$
Solves
$$y'' + 4y = 5e^{-x}, \quad y(0) = 2, \quad y'(0) = 3$$